Economics: The Basics, 2e

Study Guide: Chapter 6

Learning Objectives

LO6-1 Discuss the changes in the economics role of the government over time, including the New Deal and deregulation.

LO6-2 Explain the benefits of government action.

LO6-3 Describe the limits and downsides of government action.

LO6-4 List and illustrate circumstances in which government intervention in the economy may be useful.

Outline

· Private Sector: the provision of goods and services through private enterprise.
· Public Sector: the provision of goods and services by the government.
· Private Sector vs. Public Sector, Historically:
· Before 1929, the government’s role in the economy was much smaller.
· The government’s role in the economy grew during the Great Depression (through FDR’s New Deal) and WWII.
· It continued to grow during the 1950s and 1960s under both Republicans and Democrats.
· Deregulation occurred during the late 1970s and through the 1980s.
· Government Intervention
· Government intervention is referred to as the command approach.
· Pros: provides public goods, aids in managing globalization, encourages technological change, shapes financial markets, and remedies private market problems.
· Cons: governments face incentive problems, encourages rent-seeking behavior, may lead to corruption, and the government may lack flexibility and innovation.
· Inefficiency of Taxation
· The imposition of a tax means that sellers do not receive the full price paid by buyers; this interferes with the ability of the market to coordinate buyers and sellers.
· Sellers have an incentive to reduce the quantity supplied in the market from what they would normally provide, and buyers reduce their quantity demanded due to the higher price; this creates inefficiency.
· Both buyers and sellers bear the burden of a tax.
· Four reasons for government intervention:
· Provide public goods
· Public goods are goods that would not be provided by the private sector because of the free rider problem; these goods benefit the vast majority of people in a locality, state, or nation.
· Market regulation
· Provide regulation of markets and maintain the rules for market competition.
· Externalities
· Externalities are the unaccounted-for effects on other people created by a person’s actions.
· Negative externalities: pollution, smoking, and the like.
· Positive externalities: a nice yard.
· Network externalities occur when “your decision to use a network affects the value of that network to other people” (may be positive or negative).
· Income Redistribution is the most controversial role of the government.
Common Myths & Common Problems

· If government planning won WWII, why not use the command approach in our everyday market?

· The problem with using government to provide things other than the four areas discussed above is that the cons outweigh the pros. The government lacks the incentives that exist in the private sector. The private sector knows that it earns profits by making products consumers want and by improving products. The private sector also understands that if it fails at making consumers happy, they will go out of business. These market incentives do not exist for the government. The government has no direct measurement of failure; since is can easily spend more and tax us for it, it is difficult for the government to determine when they have failed. Instead of asking whether the government is doing something right, the issue is whether they have spent enough.

· Another problem with having the government produce everything is that it creates incentives for the private sector to engage in rent-seeking behavior. Businesses, instead of investing in research and development, will spend resources on lobbyists to obtain special privileges or dispensations from the government. An underappreciated danger is that this could spiral into corruption where bribes and kickbacks are paid to government officials.
· Taxes only hurt the person you are taxing.

· Actually, taxes hurt both producers and consumers. If you place a tax on the consumer, they must pay a higher price for the good and producers receive less revenue than they would have without the tax.

· Even taxes placed directly on producers can hurt the consumer. The producer will attempt to pass the tax on to the consumer as an added cost of production. The consumer will still end up paying more for the good than they otherwise would have.
Real World Applications from an Economist’s Perspective

Recently in the media, there has been discussion by both Republicans and Democrats on removing the federal gasoline tax and imposing a windfall profit tax on oil companies. What many people do not understand is that these two policies have opposite effects; in the end, the net effect may be zero.

Let us examine the removal of the federal gasoline tax. If we remove the tax, it will increase quantity supplied and quantity demanded for gasoline. At the same time, the price for gasoline will fall. Markets will approach equilibrium and more people will be able to purchase gasoline at lower prices.
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What we see is that as the tax is removed, price will fall from PT to P*. This will increase the amount of gasoline provided in the market from QT to Q*. The removal of the tax looks like an efficient policy because it will allow producers to coordinate with consumers.

However, if we then turn around and impose a windfall profit tax on oil companies, we will be undoing the benefit from removing the gasoline tax. A windfall profit tax will reduce the amount of profits made by oil companies. This will increase their cost of production. If possible, they will attempt to pass the tax on to the consumer through higher gasoline prices. This will usually follow the route of the oil companies reducing the supply of gasoline in the market. What you need to understand is that the increase in price is not a way to punish consumers. It is merely how supply and demand work. Recall from Chapter Two, an increase in production costs causes supply to decrease because it is more expensive to make the good. In this case what we may see is this:
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Here, supply decreases because of the increase in costs imposed by the tax. This causes prices to increase from P* to P1 and quantity to fall from Q* to Q1.

Attempting to pursue both of these policies simultaneously may leave the consumer no better off than where she started.
Now it’s Your Turn

1.  In some states, there has been a movement to privatize portions of freeways. One example is the 91 Toll Road in California. Discuss why roads were traditionally considered a public good, and how technology may allow them to become a private good.

2.  Your neighbor allowed his house to deteriorate and let his front yard become overgrown. Explain why his behavior may be a negative externality.

Practice Quiz

1. Which of the following is not produced by the private sector?

a. Automobiles

b. Medicine

c. Pharmaceuticals

d. Public education

2. Before 1929, the role of the government in the economy was

a. Larger than today.

b. The same as today.

c. Smaller than today.

d. More important than today.

3. Deregulation:

a. Is the increase of regulation to allow the government to increase aid.

b. Is the absence of regulation in the market.

c. Took place during the Great Depression.

d. Is the reduction of regulation in the market.

4. The imposition of a tax typically harms:

a. Producers.

b. Consumers.

c. The guilty.

d. Both A and B.

5.  Which of the following is not a public good?

a. National defense

b. A park

c. Police and rescue services

d. Disneyland

6. A public good exists when:

a. The government decides to provide a good.

b. A good used by many people cannot be provided by the private sector.

c. There are free rider problems.

d. Both B and C.

7. Which of the four justifications of government is the most controversial?

a. Providing public goods

b. Market regulation

c. Dealing with negative externalities

d. Income redistribution

8. If I play heavy metal music really loudly at 2:00 AM from my dorm room:

a. I am creating a negative externality.

b. I am creating a network externality.

c. I have fine taste in music.

d. I am creating a public good.

9. Horrendous traffic jams are a type of:

a. Negative externality.

b. Negative network externality.

c. Positive externality.

d. Market regulation.

10. Which of the following is not a type of governmental income  

redistribution?

a. Welfare

b. Social Security

c. Medicare

d. Charity to your church

Answer Key
1. D

2. C

3. D

4. D

5. D

6. D

7. D

8. A

9. B

10. D

